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Which of the following takes the genetic code to the cytoplasm (A) DNA, (B) deoxyribose, (C)
tRNA, (D) rRNA, (E) mRNA

A mistake in crossover can result in segments of the chromosome ending up on a completely wrong
non-homologous chromosome. This is (A) substitution, (B) deletion, (C) disfunction, (D) mismatch,
(E) translocation

The methylation of native DNA acts as a sort of primitive immune system, allowing the bacteria to

protect themselves from infection by (A) bacteriophage, (B) RNA virus, (C) virus, (D) cytovirus, (E)
worm

. Published case reports describe patients with metastatic melanoma treated with ipilimumab and

radiotherapy who demonstrate significant disease response not only in the irradiated site but also at
un-irradiated sites. What is the term that refers to the phenomenon in which local radiotherapy is
associated with regression of metastatic cancer at a distance from the irradiated site? (A) hormesis,
(B) bystander effect, (C) radiation effect, (D) abscopal effect, (E) Warburg effect

The chemotherapy drug taxol targets (A) ribosome, (B) the nuclear envelope, (C) microtubules, (D)
chromosomes, (E) mitochondria, during mitosis

Which of the following can activate a protein by transferring a phosphate group to it? (A) cAMP, (B)
calcium, (C) iron, (D) protein kinase, (E) protein phosphatase

Which of the following describes a transcription factor? (A) it is a protein that can be activated by a
signal and then cause the transcription of DNA to mRNA, (B) it is a hydrophobic signal molecule that
binds to a receptor on the external side of the cell membrane, (C) it is a lipid that can diffuse directly
through the plasma membrane and bind to a cytoplasmic receptor, (D) it is a protein that determines
whether or not a ribosome binds to the endoplasmic reticulum, (E) it is a carbohydrate that can
modify a protein.

Which of the following is a tumor suppressor? (A) MYC, (B) TP53, (C) E2F1, (D) EGFR, (E)
CCND1

Intermediate filaments are made of a protein present in nail and hair (A) filamin, (B) tubulin, (C)
actin, (D) desmin, (E) keratin

Cells are able to take in droplets of fluid from outside of the cell to form vesicles containing this
liquid. What is the transport mechanism? (A) exocytosis, (B) phagocytosis, (C) endocytosis, (D)
pinocytosis, (E) facilitated diffusion

Which part of a plasma membrane is responsible for preventing the free movement of ions into and
out of the cell? (A) phospholipid bilayer, (B) channel proteins, (C) glycoprotein, (D) cholesterol, (E)
lipid raft
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A membrane protein could have which of the following functions? (A) energy storage, (B) oxygen
uptake, (C) thermal insulation, (D) enzymatic action, (E) carbon dioxide exclusion

How to gene mutations contribute to evolution? (A) beneficial mutations are passed on to several
members of a generation, quickly taking hold in a population, (B) unfavorable mutations have a more
significant effect on genes than do favorable mutations, so they are spread through the population,
(C) natural selection favors beneficial mutations, so they survive and are passed on to future
generations, (D) beneficial and unfavorable mutations take hold in the population equally over
numerous generation, (E) beneficial mutations are easily to be drifted

Epigenetics is most concerned with (A) changes in a person’s genotype resulting from environmental

influences, (B) the expression of a particular gene as influenced by external inputs, (C) environmental
influences on gene expression over experiential influences, (D) the heritability of genotypes that have
been altered over multiple generations, (E) gene has nothing to do with environment

What is one purpose behind histone modification? (A) gene deregulation, (B) gene regulation, (C)
genetic modification, (D) gene silence, (E) gene overexpression

When the regulatory mechanism of DNA methylation is passed on to your offspring it is known as
(A) imprinting, (B) chromatin modification, (C) transcription factor binding, (D) DNA re-
methylation, (E) gene expression

Where miRNAs bind to gene and regulate its expression (A) DNA sense strand, (B) DNA anti-sense
strand, (C) mRNA coding region, (D) mRNA 5’-UTR, (E) mRNA 3*-UTR

The hypothetical ‘stimulin’ gene contains two exons that encode a protein of 100 amino acids. They
are separated by an intron of 100 bp beginning after the codon for amino acid 10. Stimulin mRNA
has 5°- and 3’-untranslated regions of 70 and 30 nucleotides, respectively. A complementary DNA
(cDNA) made from mature stimulin RNA would have which of the followmg size (A) 500 bp, (B)
400 bp, (C) 300 bp, (D) 100 bp, (E) 70 bp

The consensus sequence 5’-TATAAAA-3’ found in eukaryotic genes is quite similar to a consensus
sequence observed in prokaryotes. It is important as the (A) only site of binding of RNA polymerase
111, (B) promoter for all RNA polymerases, (C) termination site for RNA polymerase II, (D) major
binding site of RNA polymerase I, (E) first site of binding of a transcription factor for RNA

polymerase II

In base excision repair, the lesion is removed by (A) DNA glycosylase, (B) excisionase, (C)
transponase, (D) DNA polymerase, (E) Integrase
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(a) Polymerase chain reaction

(b) Euchromatin

(c) MicroRNA

(d) Alternative splicing

(e) Chromatin immunoprecipitating assay

(f) Z-DNA
(2) (10 4°) #5308 Epigenetic regulation &4 34 4% 4] ?
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